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Rechne, indem der Dividend zerlegt wird.


Beispiel: 339 : 3 = (300 + 39) : 3 = 300 : 3 + 39 : 3 = 113


	a) 	448 : 4 			b) 	639 : 9 

		= ________________		= ________________ 

		= ________________		= ________________ 

		= __________ = ______		= __________ = ______


	c) 	4536 : 42			d)	3072 : 24 

		= ________________ 		= ________________

		= ________________ 		= ________________ 

		= ____________ = ____		= ____________ = ____


	e)	5642 : 62 =			f)	4845 : 51 

		= ________________ 		= ________________

		= ________________ 		= ________________ 

		= ____________ = ____		= ____________ = ____


	g)	3840 : 60			h)	2314 : 26 

		= ________________ 		= ________________

		= ________________ 		= ________________ 

		= ____________ = ____		= ____________ = ____
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